## APPLICATION AND CERTIFICATE FOR PAYMENT CITY OF MADISON ENGINEERING DIVISION

Project Manager:	SHAWN BEER	Page 1 of 4
Project: RESURFA	ACING 2022 - ASPHALT BASE PATCHING A	AND BASE PATCH GRINDING
Contract Number:	8619	Payment Number:3
DO NOT WRITE	IN THIS BOX - TO BE COMPLETED	BY CITY ENGINEERING PERSONNEL ONLY
TOTAL FROM PAGE:	4	717,110.18
LESS RETAINAGE:		19,860.32
SUBTOTAL:		697,249.86
LESS PREVIOUS PA	YMENTS:	322,077.08
CURRENT PAYMENT	DUE:	375,172.78
Dy this and and that CONTRA  INSPECTOR'S CERTIFIED The under the second that t	TIME PERIOD FOR THIS PAYMENT REQU	d in accordance with the contract documents,
	PAYMENT REQUEST SHALL BE SUBMITTED PAYMENTS CAN BE PROCESSED EVERY TV	

13703-402-200 Mill, Pave & Castings 83252-54410 Sanitary Water Accounts (N=5)

## CONTRACTOR/INSPECTOR/ENGINEER SHOULD ONLY COMPLETE COLUMN #10, "TOTAL UNITS"

PAYNE & DOLAN, INC.
RESURFACING 2022 - ASPHALT BASE PATCHING AND BASE PATCH GRINDING CONTRACT NO. 8619
PAYMENT NO. 3

CONTRA PAYMEN	ACT NO. 8619 NT NO. 3								ſ		*****		Í
		1	2	3	4	5	6	7	8	9	#10	11	12
ITEM	TYPE OF WORK	ESTIMATED QUANTITIES	UNITS	UNIT PRICE BID	CONTRACT	C. O. DOLLARS	UNITS THIS APPL.	EXTENSION	UNITS PREV. APPL.(S)	EXTENSION	TOTAL UNITS	EXTENSION	PERCENT COMPLETE
13703-40	02-200 Mill, Pave & Castings												
10790	RR INSURANCE	= 1.00	EA	\$150.00	\$150.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
40202	HMA PAVEMENT 4 LT 58-28 S	50.00	TON	\$90.00	\$4,500.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
40218	TACK COAT	25.00	GAL	\$1.50	\$37.50		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
40231	ASPHALT DRIVE & TERRACE	25.00	SY	\$32.00	\$800.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
40251	ASPHALT MATERIAL FOR CURB FRONT FILL	50.00	LF	\$8.00	\$400.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
40332	BASE PATCH GRINDING, METHOD 2	7,500.00	SY	\$23.00	\$172,500.00		1,966.33	\$45,225.59	2,220.00	\$51,060.00	4,186.33	\$96,285.59	55.82%
40333	BASE PATCH GRINDING, METHOD 3	1,500.00	SY	\$33.50	\$50,250.00		2,042.25	\$68,415.38	2,300.00	\$77,050.00	4,342.25	\$145,465.38	289.48%
40335	BASE PATCH GRINDING, METHOD 5	250.00	SY	\$47.00	\$11,750.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
40351	ASPHALT BASE PATCHING, 3.5" INCH	25.00	SY	\$30.00	\$750.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
40352	ASPHALT BASE PATCHING, 5-8 INCH	25.00	SY	\$35.00	\$875.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
40353	ASPHALT BASE PATCHING, 8-10 INCH	25.00	SY	\$40.00	\$1,000.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
40354	ASPHALT BASE PATCHING, OVER 10 INCH	15.00	SY	\$50.00	\$750.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
40362	ADJUST ACCESS STRUCTURE CASTING - RESURFACING	1.00	EACH	\$200.00	\$200.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
40501	INFRARED SEAMLESS PATCHING	100.00	SF	\$8.50	\$850.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
90001	RR FLAGGING	5.00	HOURS	\$150.00	\$750.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
	SUBTOTALS				\$245,562.50	l		\$113,640.97	4	\$128,110.00		\$241,750.97	98.45%
83252-54	1410 Sanitary												
10790	RR INSURANCE	_ 1.00	EA	\$150.00	\$150.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
40202	HMA PAVEMENT 4 LT 58-28 S	150.00	TON	\$90.00	\$13,500.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
40218	TACK COAT	50.00	GAL	\$1.50	\$75.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
<del>-102</del> 10	IAGROOM	30.00	OAL	φ1.00	φ13.00		0.00	φυ.υυ	0.00	φυ.υυ	0.00	φυ.υυ	3.00 /6

## CONTRACTOR/INSPECTOR/ENGINEER SHOULD ONLY COMPLETE COLUMN #10, "TOTAL UNITS"

PAYNE & DOLAN, INC.
RESURFACING 2022 - ASPHALT BASE PATCHING AND BASE PATCH GRINDING CONTRACT NO. 8619
PAYMENT NO. 3

CONTRA PAYMEN	ACT NO. 8619 IT NO. 3						İ		İ		*****		1
		1	2	3	4	5	6	7	8	9	#10	11	12
ITEM	TYPE OF WORK	ESTIMATED QUANTITIES	UNITS	UNIT PRICE BID	CONTRACT	C. O. DOLLARS	UNITS THIS APPL.	EXTENSION	UNITS PREV. APPL.(S)	EXTENSION	TOTAL UNITS	EXTENSION	PERCENT COMPLETE
40231	ASPHALT DRIVE & TERRACE	25.00	SY	\$32.00	\$800.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
40251	ASPHALT MATERIAL FOR CURB FRONT FILL	50.00	LF	\$8.00	\$400.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
40332	BASE PATCH GRINDING, METHOD 2	3,500.00	SY	\$23.00	\$80,500.00		2,209.33	\$50,814.59	150.00	\$3,450.00	2,359.33	\$54,264.59	67.41%
40333	BASE PATCH GRINDING, METHOD 3	1,000.00	SY	\$33.50	\$33,500.00		483.62	\$16,201.27	111.00	\$3,718.50	594.62	\$19,919.77	59.46%
40335	BASE PATCH GRINDING, METHOD 5	250.00	SY	\$47.00	\$11,750.00		244.44	\$11,488.68	0.00	\$0.00	244.44	\$11,488.68	97.78%
40351	ASPHALT BASE PATCHING, 3.5" INCH	25.00	SY	\$30.00	\$750.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
40352	ASPHALT BASE PATCHING, 5-8 INCH	25.00	SY	\$35.00	\$875.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
40353	ASPHALT BASE PATCHING, 8-10 INCH	25.00	SY	\$40.00	\$1,000.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
40354	ASPHALT BASE PATCHING, OVER 10 INCH	15.00	SY	\$50.00	\$750.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
40362	ADJUST ACCESS STRUCTURE CASTING - RESURFACING	2.00	EACH	\$200.00	\$400.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
40501	INFRARED SEAMLESS PATCHING	200.00	SF	\$8.50	\$1,700.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
90001	RR FLAGGING	5.00	HOURS	\$150.00	\$750.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
	SUBTOTALS				\$146,900.00			\$78,504.54	•	\$7,168.50	-	\$85,673.04	58.32%
WATER	ACCOUNTS ( N=5)												
10790	RR INSURANCE	1.00	EA	\$150.00	\$150.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
40202	HMA PAVEMENT 4 LT 58-28 S	50.00	TON	\$90.00	\$4,500.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
40218	TACK COAT	50.00	GAL	\$1.50	\$75.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
40231	ASPHALT DRIVE & TERRACE	50.00	SY	\$32.00	\$1,600.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
40251	ASPHALT MATERIAL FOR CURB FRONT FILL	50.00	LF	\$8.00	\$400.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
40332	BASE PATCH GRINDING, METHOD 2	6,000.00	SY	\$23.00	\$138,000.00		2,324.83	\$53,471.09	3,000.00	\$69,000.00	5,324.83	\$122,471.09	88.75%
40333	BASE PATCH GRINDING, METHOD 3	4,000.00	SY	\$33.50	\$134,000.00		2,575.44	\$86,277.24	2,900.00	\$97,150.00	5,475.44	\$183,427.24	136.89%
40335	BASE PATCH GRINDING, METHOD 5	2,500.00	SY	\$47.00	\$117,500.00		982.72	\$46,187.84	800.00	\$37,600.00	1,782.72	\$83,787.84	71.31%

\*\*\*\*\*

## CONTRACTOR/INSPECTOR/ENGINEER SHOULD ONLY COMPLETE COLUMN #10, "TOTAL UNITS"

PAYNE & DOLAN, INC.
RESURFACING 2022 - ASPHALT BASE PATCHING AND BASE PATCH GRINDING CONTRACT NO. 8619
PAYMENT NO. 3

IAIME	11 NO. 3	1	2	3	4	5	6	7	8	9	#10	11	12
ITEM	TYPE OF WORK	ESTIMATED QUANTITIES	UNITS	UNIT PRICE BID	CONTRACT	C. O. DOLLARS	UNITS THIS APPL.	EXTENSION	UNITS PREV. APPL.(S)	EXTENSION	TOTAL UNITS	EXTENSION	PERCENT COMPLETE
40351	ASPHALT BASE PATCHING, 3.5" INCH	25.00	SY	\$30.00	\$750.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
40352	ASPHALT BASE PATCHING, 5-8 INCH	25.00	SY	\$35.00	\$875.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
40353	ASPHALT BASE PATCHING, 8-10 INCH	25.00	SY	\$40.00	\$1,000.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
40354	ASPHALT BASE PATCHING, OVER 10 INCH	15.00	SY	\$50.00	\$750.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
40362	ADJUST ACCESS STRUCTURE CASTING - RESURFACING	1.00	EACH	\$200.00	\$200.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
40367	ADJUST VALVE CASTING, METHOD #1 RESURFACING	1.00	EACH	\$150.00	\$150.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
40369	INSTALL ADJUSTABLE VALVE BOX RISER	4.00	EACH	\$100.00	\$400.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
40501	INFRARED SEAMLESS PATCHING	100.00	SF	\$8.50	\$850.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
90001	RR FLAGGING	5.00	HOURS	\$150.00	\$750.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
	SUBTOTALS				\$401,950.00	•	'	\$185,936.17	3	\$203,750.00	<b>=</b>	\$389,686.17	96.95%
CONTRA	ACT TOTALS				\$794,412.50	-		\$378,081.68	=	\$339,028.50	=	\$717,110.18	= 90.27%